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9.4 - 9.5 Trigonometric Ratios

Find the sine, cosine, and tangent of an
acute angle.

Use trigonometric ratios to find side
lengths in right triangles and to solve
real-world problems.

A trigonometric ratio is a ratio of two sides of a
right triangle.
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In trigonometry, the letter of the vertex of the

angle is often used to represent the measure of
that angle. For example, the sine of ZA is written | .
as sin A.

Write the trigonometric
ratio as a fraction and
as a decimal rounded to
the nearest hundredth.
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Use your calculator to find the trigonometric
ratio. Round to the nearest hundredth.

sin 52° » .39

cos 19° » .95

fan 65° ; 2.4

Write each trig ratio as a fraction. Reduce your
answer. Y
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Use a special right triangle to write tan 45°

as a fraction.
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Use a special right triangle to write cos 30°

as a fraction.
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Find the length. Round to
the nearest hundredth.
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Use a special right triangle to write each
trigonometric ratio as a fraction.

1. sin 60° 2. cos 45°
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3. Tan 60

Find the exact area of the triangle.
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Problem Solving Application

A contractor is building a wheelchair ramp
for a doorway that is 1.2 ft above the ground.
To meet ADA guidelines, the ramp will

make an angle of 4.8° with the ground.

To the nearest hundredth of a foot, what is
the horizontal distance covered by the ramp?
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